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HEEES RERE ZiREE [EBILRE | LBRAS | EERS
24500003400005033243000001 AITEEINGIT= EEER 68.0 77 =)
24500003400005033243000002 AT m= iz 0.0 0 RETE
24500003400005033243000003 AI g% m= iz 0.0 0 REE
24500003400005033243000004 AI g% m= iz 0.0 0 RETE
24500003400005033243000005 A& m= EEER 735 98 =)
24500003400005033243000006 ATE&EINGIm= iz 0.0 0 RETE
24500003400005033243000007 A& m= EEER 89.0 83 =)
24500003400005033243000008 ATE&EINGIT= iz 0.0 0 RETE
24500003400005033243000009 A& m= EEER 99.0 93 =)
24500003400005033243000010 A& m= EEER 97.5 96 =)
24500003400005033243000011 A& m= EEER 83.0 90 =)
24500003400005033243000012 A& m= EEER 98.5 95 =)
24500003400005033243000013 A& m= EEER 88.5 90 =)
24500003400005033243000014 AILERINGm= EEER 98.0 86 =)
24500003400005033243000015 A& m= EEER 99.5 97 =)
24500003400005033243000016 A& m= EEER 96.5 94 =)
24500003400005033243000017 A& IT= EEER 945 96 &
24500003400005033243000018 A& IT= EEER 98.0 95 &
24500003400005033243000019 AT EEI%IF=2% EEER 95.0 95 &
24500003400005033243000020 ARG Im= EEER 95.5 94 &
24500003400005033243000021 A& M= EEER 91.0 76 =
24500003400005033243000022 AT &gl Im =% HhE 0.0 0 R
24500003400005033243000023 A& IT= EEER 96.0 94 &
24500003400005033243000024 ANITEEI%IF=2% EEER 945 93 &
24500003400005033243000025 AT EEI4IF=2% EEER 95.5 95 &
24500003400005033243000026 AT =% I =2% EEER 90.0 90 &
24500003400005033463000027 | 5 RZEMXA (BEMNXR) =& EEER 61.5 86 &
24500003400005033463000028 | 5 RZEMXA (BEMXR) =R EEER 60.5 77 &
24500003400005033463000029 fm ZEMAR BBENKA) =% | EEFEER 66.0 65 =X
24500003400005033463000030 | ERZ2MXR (BENXR) =% | EEXER 64.0 60 =X
24500003400005033463000031 | ZRLEMRXRA (BEMRXR) =R o 0.0 0 AEHE
24500003400005033463000032 fm ZEMAR BBENKA) =% | EEER 62.5 68 =X
24500003400005033463000033 | ER2&Z2MXR (BENRXR) =% | EEXER 63.5 70 =X
24500003400005033463000034 fm ZEMAR (BBENKRA) =& IEEER 61.0 62 =X
24500003400005033463000035 | ERZEMXA (BEMNRXR) =X IEEER 63.5 61 =X
24500003400005033463000036 | ZRLEMXRA (BEMRXR) =R o 0.0 0 AEHE
24500003400005033463000037 fm ZEMAR BBENKA) =% | EEER 98.0 83 =X
24500003400005033463000038 | ERZEMXA (BEMNRXR) =X IEEER 63.0 61 =X
24500003400005033463000039 | ER&Z2MXR (BENRR) =% | EEXER 61.5 75 =X
24500003400005033463000040 fm ZEMXR (BEMNXRA) =R IEEER 65.0 81 =X
24500003400005033463000041 | ERZ2MXR (BENXR) =% | EEXER 60.0 68 =X
24500003400005033463000042 BEReNHAR (BENRA) =R EEER 71.0 88 =X
24500003400005033463000043 T*Etcé,'ﬂlhfcﬁ (BEMNRXR) =R EEER 62.0 68 =X
24500003400005033463000044 BER2eENAR (BENRA) =R EEER 62.5 70 =X
24500003400005033463000045 BER2eNHAR (BEMNRA) =R R 0.0 0 Y
24500003400005033463000046 T*Etcé,'ﬂlhfcﬁ (BEMNRXR) =R EEER 66.0 70 =X
24500003400005033463000047 BER2eNHAR (BENRA) =R EEER 62.0 75 =X
24500003400005033463000048 BER2eNHAR (BENRA) =R EEER 67.0 80 =X
24500003400005033463000049 T*Etcé,'ﬂlhfcﬁ (BEMNRXR) =R EEER 61.0 60 =X
24500003400005033463000050 fn%tcé,'ﬂlhfcﬁ (BEMNRXR) =R EEER 61.0 65 =X
24500003400005033463000051 BREMWAR (BENWHR) =R TR 0.0 0 e
24500003400005033463000052 T*Etcé,'ﬂlhfcﬁ (BEMNRXR) =R EEER 64.0 84 =X
24500003400005033463000053 fn%jcé,wlhfcﬁ (BEMNRXR) =R R 0.0 0 &5
24500003400005033463000054 BN R (BENHR) =% EEER 63.0 61 =
24500003400005033463000055 f*gxré,lﬂhitﬁ (BEMNRXR) =R EEER 62.5 65 =




